1095 Glenwood

P-KH-13-0163 Water meter

| | | | SCANNE | | | |
|----------------------------|--|----------|---------------|--|--|--|
| | CITY OF NAPOLE BILLABLE WORK O | | | | | |
| SERVICE | □WATER | | | | | |
| DATE ISSUED: | NAME: ST. PAULS NEW WATER TAP TOTAL ESTIMATE ADDRESS | | | | | |
| LOCAL REPORT#: | | | 20 | | | |
| DATE | DESCRIPTION | QUANTITY | AMOUNT | | | |
| 9/10/2013 | ESTIMATE FOR NEW 1 1/2" WATER TAP | | \$2,457.70 | | | |
| | LABOR, EQUIPMENT, MATERIAL, PARTS | | | | | |
| | ADD 25% PER CITY ORDINANCE | | \$614.43 | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| GRAND TOTAL authorized By: | | \$ | 3,072.13 | | | |
| adionized by. | | 1 | | | | |

Service Performed By:

Brian Okuley

CaAV 2

CITY OF NAPOLEON

| 1 | CIT OF NAPO | | |
|-------------|-----------------------------|----------------|---------------|
| | BILLABLE WORI | K ORDER | |
| SERVICE | | | |
| | | | |
| DATE ISSUED | : NAME: ST. PAULS NEW WATER | TAP PARTS LIST | |
| | ADDRESS | | |
| | | | |
| LOCAL | | | |
| REPORT#: | | | |
| | | | |
| | | | |
| DATE | DESCRIPTION | QUANTITY | AMOUNT |
| 9/10/2013 | 6" CLAMP WITH 1 1/2" C.C. | 1 | \$190.00 |
| | 1 1/2" CORPORATION STOP | 1 | \$130.00 |
| | 1 1/2" CURB STOP | 1 | \$220.00 |
| | 1 1/2" STAINLESS INSERTS | 3 @ \$4 00 | #40.00 |

| 1 | | | |
|-----------------------|----------------------------------|---------------|----------------|
| 9/10/2013 | 6" CLAMP WITH 1 1/2" C.C. | 1 | \$190.00 |
| | 1 1/2" CORPORATION STOP | 1 | \$130.00 |
| | 1 1/2" CURB STOP | 1 | \$220.00 |
| | 1 1/2" STAINLESS INSERTS | 3 @ \$4.00 | \$12.00 |
| | CURB BOX AND ROD ASSEMBLY | 1 | \$57.00 |
| | 50' OF 1 1/2" PLASTIC WATER LINE | \$.85 PER FT. | \$42.50 |
| | 50' OF TRACING WIRE | \$.15 PER FT. | \$7.50 |
| | 1" METER AND 1" METER HORN | 1 EACH | \$525.00 |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| GRAND TOTAL | | | \$ 1,184.00 |
| Authorized By: | | | 1,701.00 |
| Service Performed By: | Brian Okuley | | |

CITY OF NAPOLEON

| BILLABLE WORK ORDER | | | | | | |
|---------------------|--|-------------|-------------|--|--|--|
| SERVICE | □WATER | | | | | |
| DATE ISSUED: | NAME: ST. PAULS NEW WATER TAP LABOR AND EQUIPMENT LIST ADDRESS | | | | | |
| LOCAL REPORT#: | | | | | | |
| DATE | DESCRIPTION | QUANTITY | AMOUNT | | | |
| 9/10/2013 | SUPERVISOR @ \$35.00 PER HR. | 4 HOURS | \$140.00 | | | |
| | BACKHOE/OPERATOR @ \$70.00 PER HR. | 4 HOURS | \$280.00 | | | |
| | SERVICE TRUCK/DRIVER @ \$40.00 PER HR. | 4 HOURS | \$160.00 | | | |
| | LARGE DUMP/DRIVER @ \$60.00 PER HR. | 4 HOURS | \$240.00 | | | |
| | PIERCING TOOL/COMPRESSOR | | | | | |
| | @ \$55.00 PER HR. | 1 HOUR | \$55.00 | | | |
| | SMALL DUMP/DRIVER @ \$50.00 PER HR. | 1 1/2 HOURS | \$75.00 | | | |
| | ROLLER/OPERATOR @ \$70.00 PER HR. | 1 1/2 HOURS | \$105.00 | | | |
| | | - | | | | |
| | | | | | | |
| | | | | | | |
| GRAND TOTAL | | | 4075 | | | |
| Authorized By: | | | \$ 1,055.00 | | | |

Service Performed By:

Brian Okuley

CITY OF NAPOLEON BILLABLE WORK ORDER SERVICE □ WATER NAME: ST. PAULS NEW WATER TAP MATERIAL LIST DATE ISSUED: **ADDRESS** LOCAL REPORT#: DATE **DESCRIPTION** QUANTITY **AMOUNT** 9/10/2013 #6 STONE @ \$13.80 PER TON 1 TON \$13.80 #304 STONE @ \$11.30 PER TON **13 TON** \$146.90 ASPHALT @ \$58.00 PER TON 1 TON \$58.00

| GRAND TOTAL | \$ | 218.70 |
|----------------|----|--------|
| Authorized By: | | 210.70 |

Service Performed By:

Brian Okuley

| • | | | |
|---|--|--|--|
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |